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Choose the correct answer.

Each question carries 2 marks.

1. IDA and IBRD are the two branches of
(A) IMF
(B) IFC
(C) ILO
(D) World Bank
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2. Head Count Ratio indicates
(A) the proportion age of people living APL
(B) the proportion age of people living APL and BPL
(C) the proportion age of people living BPL
(D) the proportion age of people living APL or BPL
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3. The proponent of Balanced Growth theory is
(A) Ragner Nurkse
(B) Harvey Leibenstein
(C) Hirchman
(D) Arthur Lewis
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4. In which stage of Demographic Transition, the birth rate and death rate are both high ?

(A) Stage I and III

(B) Stage II and III
(C) Stage I and 11

(D) Stage I only
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5. The shape of Kuznets’ curve is
(A) Inverted S shaped
(B) L shaped
(C) Inverted U shaped
(D) V shaped
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6. ‘Atal Innovation Mission’ is set up under the

(A) Department of Science and Technology

(B) Ministry of Labour and Employment

(C) NITI Aayog

(D) Ministry of skill Development and Enterpreneurship.
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7. Two Gap Theory is propounded by
(A) Ragner Nurkse
(B) Arthur Lewis
(C) Gunnar Myrdal
(D) Chenery
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8. ‘Random Variable’ means
(A) A variable where values depend not on chance and also cannot be predicted
(B) A variable whose values depend on chance and also can be predicted
(C) A veriable whose values depend on chance and cannot be predicted
(D) None of the above
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9. ‘Cumulative frequency polygon’ is also known as
(A) Line diagram
(B) Frequency polygon
(C) Ogive
(D) Histogram
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10. For a symmetrical distribution
(A) The degree of asymmetry is positive
(B) The degree of asymmetry is negative
(C) The degree of asymmetry is zero
(D) None of the above
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11. The formula for frequency density is

Class frequency
Length of the class

(A) Frequency density =

Class frequency

(B) Frequency density =

Height of the class
o donsity Class frequency
(C) Frequency density = i 41 f the class
(D) None of the above
11. 2R IN0e @’ 281
cxifet oifaerent
A) ARt g =
(A) \ iferg orety
cxifer offaercat
AR g =
(B) Nl CICEREI )]
cfey oifgreat
C) sAfPrRA Trg = —
(C) AR cxiferg R
(D) Tt (TR 7

[P.T.O.]



(7))

12. The word ‘dispersion’ is used to denote

(A) the ‘degree of homogeneity’ in the data
(B) the ‘degree of heterogeneity’ in the data
(c) the ‘degree of both homogeneity and heterogeneity’ in the data
(D) None of the above
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13. Standard deviation refers to
(A) Root-Mean-Square-Deviation from mode
(B) Root-Mean-Deviation from mode
(C) Root-Square-Deviation from median
(D) Root-Mean-Square-Deviation from mean
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14. ‘Correlation’ is

(A) Degree of prediction between two variables

(B) Degree of non-linear association between two variables

(C) Degree of linear association between two variables

(D) Degree of imaginary association between two variables
14. “Tam Ffbw e ze
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15. Relation between AM, HM and GM is
(A) GM=+VAMxHM
B) GM=AMA
(C) GM=(AM+HM)’

AM+HM

(D) GM= 5

15. AM, HM € GM &3 (&) 7F6 Ze1
(A) GM=VAMxHM
(B) GM=AMS
(C) GM=(AM+HM)’

AM+HM

(D) GM= 5
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Paper Code : III - B
(Marks : 70)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group-A

(Development Economics)

Section - I
Answer any two questions from the following. 10x2=20
1. Discuss the various stages of Economic growth as enumerated by Rostow. 10
2. Explain the theory of “Demographic Transition.” 10
3. State the role of foreign aid in economic development. 10
4. Discuss briefly the major objectives and achievements of the IMF. 5+5=10

Section - II
Answer any three questions from the following. 5x3=15
5. Write a note on ‘Population Explosion.’ 5
6. Briefly explain the role of agriculture in economic development. 5
7. Explain the concept of ‘disguised unemployment.’ 5
8. Write the usefulness of Gini Coefficient in development Economics. 5
9. Distinguish between capital intensive and labour intensive techniques of production. 5
10. Briefly analyse the effects of economic development of growth of population. 5

Group-B

(Elementary Statistics)

Section - I
Answer any two questions from the following. 10x2=20
1. What is tabulation ? Explain the advantages and disadvantages of tabulation. 2+8=10
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(10 )

(a) What do you understand by ‘Dispersion’ ?
(b) Two Cricketers A and B made the following runs in 5 successive innings

A: 5 26 97 76 112

B: 51 47 36 60 92

Who is relatively consistent is scoring ? 2+8=10

(a) Define Mode.
(b) Find the mode of the following frequency distribution.

Class interval :  50-59  60-69 70-79  80-89 90-99

Frequency : 10 16 14 12 8 2+8=10

Compute the arithmetic mean, standard deviation and mean deviation about the mean for

the following data :

Scores : 4-5  6-7 89 10-11 12-13 14-15 Total
Frequency : 4 10 20 15 8 3 60 10
. Find the mean and the standard deviation of the first » natrual numbers. 5+5=10
Section - II
Answer any three questions from the following. 5x3=15
Write a short note on cumulative frequency polygon. 5
. For the two observation porve that AM >GM > HM . 5

Prove that the standard deviation is independent of any change of origion, but is dependent
on the change of scale. 5

The numbers 3.2, 5.8, 7.9 and 4.5 have frequencies x,(x+2),(x—3) and (x+6)
respectively. If the arithmetic mean is 4.876, find the value of x. 5

Find out the Quartile Deviation from the following : 5

x: 10 15 20 25 30 35
fi2 5 7 6 1 1

What are the problems in the construction of Index number ? 5
[P.T.O.]
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x: 10 15 20 25 30 35
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